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if(a < b){
a=1;
b=-1;
}
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hoge [0] ~hoge [100] D¥FH

double hoge[101];

3. BUIRL (%10 H)
[ 1]
#include <stdio.h>
int main (void) {
int i, sum;
sum = 0;
for (i=1; 1<=10000; i++){

sum += 1i;

}
printf ("sum = %d\n", sum);
return 0;

}

fuga[0] [0]~fuga[100] [100] DHE

int fuga[101][1017];

(i 2]
#include <stdio.h>
int main (void) {
int i, sum;

sum =
i=1;

3

0;

while (1<=10000) {
sum += i;
i++;

}

printf ("sum = %d\n",
return 0;

}

sum) ;
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4.2 TR H— (20 R)
#include <stdio.h>
int main (void) {

FILE *fp;
int access;

[ H e T7ANDA—T 2 (HEHAHE—F)
if ((fp=fopen ("/tmp/le/up.log","r"))==NULL) {

printf ("can not open the file\n");
return 1;
}
fscanf (fp, "%d", &access); [x—— TFAIDNST—RERHRAL ——*/

fclose (fp); /* —— T7AILDIA—X ——*/

printf ("sd EIBMZETTI \n", access);

fF e T7ANDA—T U (BERAHE—F)
if ((fp=fopen ("/tmp/le/up.log", "w"))==NULL) {

printf ("can not open the file\n");

return 1;
}
fprintf (fp, "%d",access+1); [Fmm TFPANAT—REEZRAL ——*/
fclose (fp); Jr—— T7AIILDIA—X ——*/

return 0;



